
	√Instructions

Bring your life
thule.com2023-05-23

Thule Adapter Roof 
VW Crafter 2017
301768, 301771

ADR912-05 | 3380048800

INSTALLATION

 
 

 

Instructions

Bring your life
thule.com

Adapter Roof
VW Crafter 2017

Prod no.: 301768 / 301771
Doc. no.: ADR912 -03 / 3380048800
Date: 2023/05/22





ADR912-05 32 ADR912-03

  

Bring your life
thule.com

Instructions

Prod no.: 301768 / 301771
Doc. no.: ADR912-02 / 3380048800
Date: 25/06/2018

Adapter Roof
VW Crafter 2017

400 mm

50 mm

400 mm

x 3

x 2

x 1 x 1 x 1

x 3

M6 x 16
DIN 603

x 12

M6
DIN 985

x 17

M6 x 25
DIN 7985 TX30 A2

x 6

M6
DIN 9021

x 17

Ø10 x 30
Blind rivet nut closed
+ PVC sealing

x 6

x 5x 17

M6 x 20
DIN 603

x 5

4.2 x 25
DIN 7981 TX20 A2

x 4

TX 20 TX 30

No.10

x 3

x 1

x 1

± 870 mm

LEFT LEFTRIGHT RIGHT
± 990 mm

± 990 mm

301768LHD 301771RHD

x 1



4 ADR912-05 3ADR912-03

L3H3

L4H3

L5H3

5986 mm

use 6

6836 mm

7391 mm

25
90

 m
m

25
90

 m
m

25
90

 m
m

use 6

use 6

i MIRROR of LEFT HAND DRIVE (LHD)

LHD

LHD

RHD
RHD

IN THIS MANUAL LEFT HAND DRIVE (LHD) IS SHOWN BY DEFAULT

4 ADR912-03

400 mm

x 3

x 6 x 6

M6 x 16
DIN 603

x 12

M6
DIN 985

x 12

M6
DIN 9021

x 18

9.91 x 30
Blind rivet nut closed
+ PVC sealing

 x 6

x 12

1

L4H3

L3H3

L5H3

M6 x 25
DIN 7985 TX30 A2

x 6

6836 mm

25
90

 m
m

RHD IS MIRROR OF LHD

400 mm

x 3



ADR912-05 54 ADR912-03

400 mm

x 3

x 6 x 6

M6 x 16
DIN 603

x 12

M6
DIN 985

x 12

M6
DIN 9021

x 18

9.91 x 30
Blind rivet nut closed
+ PVC sealing

 x 6

x 12

1

L4H3

L3H3

L5H3

M6 x 25
DIN 7985 TX30 A2

x 6

6836 mm

25
90

 m
m

RHD IS MIRROR OF LHD

400 mm

x 3



6 ADR912-05 5ADR912-03

x 6

3

2

x 3

1 x

RHD IS MIRROR OF LHD



ADR912-05 75ADR912-03

x 6

3

2

x 3

1 x

RHD IS MIRROR OF LHD

6 ADR912-03

5

x 3

TX30

4
A B

Glue / Lijmen / Verklebung: 
Thule recommends / beveelt aan / empfehlt: SIKA 252 or Terostat MS937

48 h
Primern und Abdichtung nach Anweisung des Dichtmittelherstellers.
Voorbehandeling en afdichting volgens de voorschriften van de lijmfabrikant.
Preparation and sealing according to the prescripts of the glue supplier.

x 3

M6 x 25
DIN 7985 TX30 A2

x 6

M6
DIN 9021

x 6

RHD IS MIRROR OF LHD



8 ADR912-05 7ADR912-03

6

A BACK MID FRONT

FRONTMID
B

M6 x 16
DIN 603

x 12

M6
DIN 985

x 12

M6
DIN 9021

x 12 x 12

No.10

BACK

RHD IS MIRROR OF LHD



ADR912-05 98 ADR912-03

FRONT

FRONT

MID

MID

C

D

BACK

BACK

N°10

4 Nm
N°10

4 Nm
N°10

4 Nm

x 2x 2



10 ADR912-05 9ADR912-03

x 3

x 1

x 1

± 870 mm

± 990 mm

± 990 mm

3170 mm

3930 mm

4430 mm

990 mm

880 mm

830 mm

870 mm

870 mm

870 mm

870 mm

870 mm 870 mm

320 mm

320 mm

990 mm

990 mm

990 mm

1

2

L3H3

L4H3

L5H3

4

5

5

4

4

3

3

3

2

2

2

1

1

1

RHD IS MIRROR OF LHD



ADR912-05 119ADR912-03

x 3

x 1

x 1

± 870 mm

± 990 mm

± 990 mm

3170 mm

3930 mm

4430 mm

990 mm

880 mm

830 mm

870 mm

870 mm

870 mm

870 mm

870 mm 870 mm

320 mm

320 mm

990 mm

990 mm

990 mm

1

2

L3H3

L4H3

L5H3

4

5

5

4

4

3

3

3

2

2

2

1

1

1

RHD IS MIRROR OF LHD

10 ADR912-03

3

START

START

START

3170 mm

3930 mm

4430 mm

990 mm

880 mm

830 mm

870 mm

870 mm

870 mm

870 mm

870 mm 870 mm

320 mm

85 mm

85 mm

85 mm

(45 mm)

(155 mm)

(210 mm)

320 mm

990 mm

990 mm

990 mm

L3H3

L4H3

L5H3

4 3 2 1

5 4 3 2 1

5 4 3 2 1

FRONT

FRONT

BACK

BACK

BACK FRONTFRONT

RHD IS MIRROR OF LHD



12 ADR912-05 11ADR912-03

1

M6
DIN 985

x 5x 5

x 1 x 1

x 5

M6 x 20
DIN 603

x 5

No.10

65 mm

TX 20

4.2 x 25
DIN 7981 TX20 A2

x 4

2 Assemble

N°10

x 3

4 Nm

LEFT LEFTRIGHT RIGHT

LHD RHD

x 1 x 1



ADR912-05 1312 ADR912-03

3

LEFT

LEFT + RIGHT

RIGHT

4 Assemble

B C

A

TX 20

N°10

x 2

4 Nm

RHD IS MIRROR OF LHD

RHD IS MIRROR OF LHD







  Thule NV, Kortrijkstraat 343 – BE 8930 Menen, BELGIUM	   infoRV@thule.com�   www.thule.com

	 © Thule Group 2023. All rights reserved.� ADR912-05 


